N = 0l & AF & F Al A

20108 =0llat LetsIA 2AARH ~ AR H

fA: 2AMEH

HH: NYHE Mo MAQE TE(LUDIHI/YBULNBE)
el AEE AL X7 (el @
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
oI5| AL H 12,487,451 12,244,163 243,283
ANLE d&ote AREY REH (LSS /JHULH 5,966,613 6,062,083 A95,470
Heael)
e JFNHR =& 5,111,090 5,025,438 85,652
°o32% ¥ WFRAMIL LHAF 370,234 344,684 25,550
101 2144l 12,101 12,101 0
04 JIZtHIZ2E2ENEE S 12,101 12,101 0
O Z2as2Xx082Y 38,8503 x2H 130 10,101
e E 2,000
201 LBt 3| 107,730 93,980 13,750
01 AtS 22l 107,730 93,980 13,750
Oget=gH| 73,250
OMOU oA ZHINSE 250,000& x55Y 13,750
OMOtH o 2O & AL M Z HI 5,000
Oz =8 M= 5,000& *2,000% 10,000
O2dzgAd8FE 5,000
Oo3gRELE 15,0003 3005 4,500
OLEJYNESLEINRL 12,000
OdgEdzaE Rl 7,000
Ot ENASH 6,000
OANREZFY 5,000
O ==Y HEALYTLXS 5,000
O=2g=¢ 4,480
OS2I YARAR =L Y]
70,000 x8H 83| 4,480
=gl 30,000
Osl2d =z Al 30,000
202 O4Hl 166,203 139,703 26,500
01 =Y 99,703 99,703 0
O d2L XA 99,703
03 =2HFNHHI 66,500 40,000 26,500
O oA=& & wF 2 &30 44,000
ORHSRJAMR S H W H 22,500
203 HRF&HI 62,000 62,000 0
03 AMEFIHRFAY| 62,000 62,000 0
Oolggf =4 33,000
O ZaskAgRF=d 10,000
(o322 RFA 9,000
OUHEHARFA 5,000
OoEEsUlHAunINALRFA 5,000




SN ClEARH
Hu: YSE MEots MO RH(LYBBIUT/YYL A B2)
Sl REE AFNAYR =X CERL
) _ HEE =
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
01 YsrE A3 22,200 21,300 900
08 28IEH0it| 15,000 15,000 0
BEENEEEEEEES VL] 15,000
10 BAHAHI 2 A3 4,800 3,900 900
COIBI X R AS B 2 Al b2 4
400,000 x3% 1,200
EEE LR R e
200, 0008 +22 x324 33| 3,600
12 JlEtR A 2,400 2,400 0
EEIERIP I 480, 0002 *52 2,400
oNeY 285t 202,118 280,058 A57,940
101 o124 15,204 13,944 1,260
04 JIAH2ENSE 15,204 3,944 1,260
D@ﬂ%&gupanzzg$'
56, 17024 %2 +802 8,988
DB HHBESY 38,8502 +2% <802 6.216
201 2ere | 127,480 193,280 65,800
01 At 27,480 193,280 65,800
WETEEE Y 96,600
ONRESUFUADE 7Y 3,000
OSHBSLNARY 8,000 +3005 +43] 9,600
OEFI2YRI RO 25,0002 *500% 12,500
ONSHSAAAA LB 442
600, 0002 x421 2,400
02l o2 0l Aot AH2 DA RO 12,000
Ool@grolorgol 5,0002 * 1805 +83] 7,200
OoFESLH Lt Z DN RO
5,0002 x240 10| 12,000
OFAN R0 5,0002 18052 x23] 1,800
O3l /= (CD) M = 4,400,0002 +83] 35,200
SEEEET=EEE TS
1,25021+90 7} +B3| 900
Deg+g 11,680
ONSHSAIEIABALY 70,0008 53 x43] 840
ODSHS MBI H0Hl 70,000 +32 43] 840
OB U4 SSALT  200,0002 *50A] 2t 10,000
mhET] 4,200
OSIINLEZA2 RS 4,200
BEET] 15,000
O AYRETZ A 15,000
202 01t 49,534 49,534 0
01 2Uhoitl 49,534 49,534 0
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fAM: 2AAMEH

HH: NYHE Ao MEQE TE(LUDIHI/YBULNBE)
el RIEE oFN AR EX (ct9): &2
SA-EH O (BH) - HBAY - B2 Ofl A o4 gggf; HRS2
OO &8N RAEF 15,000
O AL RS HIOILE 5,000
MNAULARSG 2= 232,732 287,832 A55,100
101 ol 24| 6,216 6,216 0
04 JIZHMIZ2ZANHsSE 6,216 6,216 0
OoZ2EExo2 38,850& x2H x80 6,216
201 Et24d| 41,500 96,600 A55,100
01 AP Zeltl 41,500 96,600 ~55,100
O et=SH| 41,500
OAgsl, BHISYNE RO
500, 000& *6IH 2 & 3l 3,000
O2F3 &AL 70,000& x10H *63| 4,200
OMAAGgMNETEE DNFOI
500, 000& *53| *7 I < & 3| 17,500
OAMBINDNIARERY
300, 000& *43| *7IH < & 3| 8,400
OUSANREERLY 1,200,000& *7H 2 & 3 8,400
202 (4 97,016 97,016 0
01 =20 97,016 97,016 0
COZ AP AR O Y] 6,016
a2 23 X=X & o B
13,000, 000& 7 | & 3| 91,000
203 PR =&l 88,000 88,000 0
03 AIHFRHRF=ZXY| 88,000 88,000 0
P 49,000
M XesAg2Fa 35,000
O0MZMSEI RS 2AADET 4,000
oldEEs MEH2LT 4,012,786 3,915,244 97,542
201 et | 10,000 10,000 0
01 AtR22teldl 10,000 10,000 0
O e =l 10,000
205 2|3/ H| 3,966,786 3,869,244 97,542
01 /& & =H| 990,000 990,000 0
OENR4+RA UL T HSY)
1,500,000 x55H x12& 990,000
02 234 1,743,720 1,743,720 0
EEERSESE=, 2,642,000& x55H x12& 1,743,720
03 =2 290,000 290,000 0
O &8es=80Y| 290,000
04 =22 0Hl 131,100 93, 100 38,000
O o2l =04 Hl 1,800,000& x52H 93,600
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A 2SAIRH
Mz X YsE droles XY R (et Y/ H{22])
Chel: AEE JFAALS X7 CEER-E)
SH-EH . O3 - MBAY - BAS 0fl AF 08 Soe HRZ2
OO ol AHA =0 H (2 &, 2o &)
2,500,000& *3H 7,500
CO=2H S S L XX EHH 2 A8 AR A O 30,000
05 o 32gssSEHl 381,835 365,500 16,335
Odod=2g3sZ| 6,397,000 *55H 351,835
Ool At 2 M EE 2R3 F 2,000,000& *15H 30,000
06 22 P R=AH| 225,600 225,600 0
ol & 4,200,000& x1H*12& 50,400
Rl & 2,100,000 x2H x12& 50,400
Oad 2 & 1,300,000& x8H »12& 124,800
07 AFHEAMEEZ 106,803 65,310 41,493
mpsEN =R R = 98.803
OXgzad 2™ e E 2L 2 4,000
OANEZQ3 2R EIRE S 4,000
08 A=0AZIREE= 49,934 49,934 0
OQa=200H32 23 118,890& 35« 12& 49,934
09 QAZAAHUREZ 47,794 46,080 1,714
O A=R0AHLEEZ 69, 1103 x55H = 12& 45,613
oI ABE= 45,613,000& x4 .78% 2,181
04 HASRE2S 36,000 36,000 0
03 QAN EES 36,000 36,000 0
OJoaadlE8a= 1,500,000& 128 »2H 36,000
olFE=s=E2AS 370,673 386,173 A 15,500
SHOIX MHBIAJNE L o4l & 44,190 97,550 53,360
201 B2 AH| 44,190 37,550 6,640
01 AP Zeltl 10,260 37,550 N2T7,290
O et=SH| 10,260
OFAZHMAIAE AR E R 600
O3 sdadE 2 Z 9,000
OQHYHAIEAHFOIZZS 55,0008 128 660
02 S=2494l 33,930 0 33,930
OA &8 &HI R Xl 33,930
O3 HMAEBAIAE R E
401,615,000 *8% 32,130
ONBHEAIAERST E 4
14,400,000& *12.5% 1,800
oldgeEs g2X 326,483 288,623 37,860
101 Q1A H| 12,044 12,044 0
04 JIZHMZ2=ZANHsSE 12,044 12,044 0
OodsEE xR0 38,850& x2H 130 10, 101
OXsal2te|EX02 38,850& x 14 x50 1,943

_5_




2A: QBN H
M NS HMEEs MTE DH(LNDDHT/AHILHD2)
ool NBESERAS EERE

SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
201 LetEdH| 236,620 204,760 31,860
01 AtE22/Hl 224,620 192,760 31,860

Dget=3Hl 224,620
OH2REz 35,000
OFIIZAH=FA=Z 6,000
OXZAIEAMEIACEZ
20,0003 158+ 12& 3,600
OoZu a2t 20,0003 =1,500= 30,000
Oog=8 et 20,000& 4002 8,000
Oo¥geskg2t 11,000, 000& *53] 55,000
Ooz 2t 20,000& =1,500% 30,000
Ol 8YtdNE = 3,000
O2z/tHHS S MM A 13,0003 *1,0005 13,000
ONY A BARSE
7,000 x 152« 12& 25 2,520
O E =2 A0S} 10,000
OHD ENGItOIetHI Ol Z= 1 & 60, 000& 2004 12,000
Oo¥e=s=2g9 42N 15,000
O EMEBZZNERANES 1,500
02 ZE=234l 12,000 12,000 0
OAIE #HI =X 12,000
OgaEHIEH R A E=HI 12,000
202 O4Hl 24,819 24,819 0
01 = WOl 24,819 24,819 0
OEess2 X0 24,819
203 ¥R =&l 37,000 37,000 0
03 AZFXHRFAH| 37,000 37,000 0
Oo3egssE2gfxd 37,000
405 KH&HFESHI 16,000 10,000 6,000
01 T ESSHSHI 6,000 0 6,000
=R ESPNE ) 6,000
02 =AY 10,000 10,000 0
OwddM2EN2S 10,000
SEHO FAztel € AIEIHA 484,850 650,472 A 165,622

FAr2tel D223 34l X3 96,250 96,250 0
101 el 84,250 84,250 0
04 JItHIZ2E2ENEE S 84,250 84,250 0

OE A Z E I 38,8503 x6H 110 25,641
OoHE8sHEEBXL0FR 38,8503 «6H 190 44,289
2R 52,2803 x1H +140 7,320




S Ol AR
Mz X YsE droles XY R (et Y/ H{22])
ool ZEHO FAR2 ¥ AANM (c+9: &2
SA-EH O (BH) - HBAY - B2 Ofl A o4 dd = HRS2
O & 04
[sieEg=E 7,000
307 QIz2to| A 12,000 12,000 0
05 QIZHRIEZ 12,000 12,000 0
O3AMEAESA 12,000
SUAIE L HUISHUHS 388,600 554,222 AN 165,622
401 AlEHIL 20| 214,300 252,722 N 38,422
01 Al&HI 200,000 249,500 249,500
o3 22 THBH XI =2 Al 200,000
02 Z2ldl 10,700 2,574 8,126
o3 2 2 TH B XI S Al 10,700
03 AlAZ0HYI 3,600 648 2,952
o3 22 THBH XI =2 Al 3,600
405 KHAHFE S 174,300 281,500 A 107,200
01 ALY 2 EF SHI 174,300 281,500 A 107,200
OLEE(9UE 2,000, 000& *60CH 120,000
O3l 2003 AIAE 1,800, 000& =151 27,000
LES=1) 1,500, 000& =4 CH 6,000
OS2 M AMIED] 1,300
OQ AR A S HALOIT} 1,100,000& x5 5,500
(N PABSHAELRE
1,100,000& x5M E 5,500
O=23| 2 &2l Xt 800,000& =51 4,000
Oa A3 o A EF XX O X} 1,000,000& x5 5,000
HHSAAH| (23 AL HE) (DIEH/DIEL) 6,520,838 6,182,080 338,758
ol 2 A 6,072,252 5,739,071 333, 181
ol 2HY| 6,072,252 5,739,071 333, 181
101 el 24H| 5,643, 155 5,283,939 359,216
01 B 5,072,475 4,910,890 161,585
o2 3,109,081
Od=H 777,458
-HE2(023) 83,964,000 x1H 83,964
-HE2((43) 69,349,320& x10H 693,494
OsEH 2,331,623
-3 (308 2) 2,961,300& x10H 122 355,356
-63 (295 =2) 2,555,600 x23H x 12& 705,346
-73(2182) 2,099,800 *18H x12& 453,557
-Jls62 (255 2) 2,457 2003 x2H x12& 58,973
-Jlsr2(27132) 2,273, 7003 x9H x 12& 245,560
-Jl=8=2(2352) 1,948,900 16 128 374,189
-Jls92 (198 8) 1,650,500 x7H «12& 138,642
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A 2ABAIRH
M HY2IZHI(ABMRH)(OIEH/IIE)

el e 2

S HE - S(EH) - NRAY - BES 01l &k o e
(RS0 = 194,302
O&z2=+¢ 2,331,623,000& *1/12 194,302
O=% 701,656
OAtZ R+ 321,675
-HHE 8,312 «B5H x10Al 2+ +12& 84,783
-EZNE 8,312& x95H 25 A| 2+ 12 236,892
ONExg 80,411
- X 40,0003 x96E 0. 78+ 12& 35,943
- JIEREE 20,0003 *96H «1.48+12& 34,100
AR =1 30,000 x96H +0. 30« 12& 10,368
OXHsHIEZY 28,786
- S8 51,9903 x96 & 0. 19%43] 3,794
- 1SSk 433,880& *96% *0. 15%43] 24,992
OFSFmtot= o) Fig= 105,960
- 258014 130,000 #25%F » 123 39,000
-2040]14 254012 110,000 x 16«12 21,120
- 158014 204012 80,000& 28+ 12& 26,880
- 105014 155018 60,0003 x23E <123 16,560
-5 0l& 102018t 50,0003 x4 E«12& 2,400
Os0tsd=¢ 500,000& 3« 12& 18,000
Ofg2f=+4 40,000 x2H 128 960
ORYEIRIA==Y 50,000 x6H «12& 3,600
OURERE=E 64,139
-58UR(30=S)
2,961,300% *4.8%<7H 128 11,940
-EUR(295 )
2,555,600 *4.8%*15F x12& 22,081
-72lR21E8)
2,099,800& *4.8%*10E «12& 12,095
-JlsTEUR((27ES)
2,273,700& 4 . 8%*4H 12 5,239
-Jls823UR(2BE )
1,948,900& *4 . 8%<8H «12& 8,981
-JIs92UR (198 8)
1,650,500& *4.8%*4 B «12& 3,803
O&clgR=+H 3,279,840 »Ppx2H 122 7,085
O2dA =Y 71,040
-3=201& 120,000 x1E « 1228 1,440
-48 100,000& 10 »12& 12,000
= 80,000& 10€ ~12& 9,600
- 65 60,000 x25H 12 18,000
-7=0l5t 50,000 x50 12 30,000
OE MG A 130,000 & 96 128 149,760
Ou S22 131,040




S QABIAR A
U UHSAAYI(ASARH)(OIEH/IIE)

el e 2 (98
S BB SR (B) - NEAY - BAS 0f & o Soe DB
Obs 140,000 10E x 128 16,800
O6~72 130,000 52 123 81,120
O8=0lat 120,000 «23H « 128 33,120
OEE = 0tyl 2,331,623,000& *1/12+60%*23] 233,163
O2HAI X 2
2,331,623,000& x1/12%16. 7%+ 12& 389,382
OS2 2l 259,090,090 »1/30%19& 164,091
02 JIet& 2= 516, 151 319,110 197,041
IFSESES, 347,486
ogs 283,213
= 4,204,640 x4« 128 201,823
-0 = 3,391,240 x2H » 128 81,390
SNETIEEERIE TS
L3123 +6E x10AI 2tx 123 5,985
OtE=d 5,660
- B Xt 40,0003 «6EH »12& 2,880
- BU0E 20,0003 «6 & x1.48+12& 2,132
AR 30,000 x6& +0.30x12& 648
OXMHSHIEx+Y 1,800
-S89 51,9902 x6& +0. 19%43| 238
-ussY 433,880 x6& *0. 15%43] 1,562
OS2 X 22,920
A= 400,000& x4« 123 19,200
T 155,000& »2& »12& 3,720
o sl 50,000 x6H *12& 3,600
Od A=Al 130,000& ~6E x12& 9,360
O¢It2 2att| 23,601,090& »1/30% 19! 14,948
Odadz 168,665
@}=3= 2,000,600 x4H 122 96,029
O¥z2=¢ 96,029,000& *1/12x100% 8,003
odz+=giittt= 5,160
- 25801 & 130,000& 1E 123 1,560
-208014f 255018 110,0008 x2E *12& 2,640
- 158014t 204 0] 2t 80,0003 «12~12& 960
ONZQ 224 (HA)
8,312 x4 B« 10AI 2t+12E 3,990
OtE=e 3,773
- < Xt 40,0003 ~4H =122 1,920
- 2I=E 20,000 x4H »1.48%12& 1,421
AR = 30,000% »4& +0.30x 12 432
OXdEHIExH 1,201
-sad 51,9903 x4 & 0. 19%43| 159
-ussH 433,880 x4 & %0. 15%43] 1,042
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SN olB AR
2 S AAH| (2B ARH) (IIEH/IIEF)

chel: o2t oty (cHol a2
CEB L C(B) - HRAY - A Aol e =2
o= 360
-2 E 30,0003 *x1E+12& 360
OASExH| 105,000 *4Z x 123 5,040
ouergsl 50,0003 x4 ZE 12& 2,400
OZHZAH| 130,000 4 H 12 6,240
Oun=s2=H| 120,000& x4 H «12& 5,760
OZFE S It 96,029,000 *1/12+60%*23] 9,603
OJAXI2El 96,029,000 +1/12%16. 7%+ 12& 16,037
OHItE &I 8,002,420 1/30+ 19 5,069
03 RIAHA2ZZ2NHE = 54,529 53,939 590
CJEAR2te| & 35,818
OJl=2s 38,850 »2H 253 19,659
(OF =, 19,658, 1003 *1/12%400% 6,553
(@JuPNE=, 38,8503 x2EH x24 1,865
O=5=¢ 38,8503 x2H x5 4,041
OMIE1:] 100,000& »2H 200
O5liEg = 3,500
OAtReI=¢ 17,811
oJl== 38,8503 * 1% 253 9,830
O&N3 9,829,0502 *1/12%400% 3,277
Odxt=¢ 38,850 x1H x24 933
O=xFs=+g 38,8503 x 1«52 2,021
O5Ed 1,750
OZE S0l 150,000 *3H 23| 900
HE =&l 51,600 54,040 AN2,440
I 2R 24,200 24,200 0
OARHE 11,000
Ogga 6,600,000& =2 13,200
R R =& 7,840 8,180 A 340
CE A& & Z Y| 7,840
O100E MK 80,0003 x98H 7,840
FA2I R 19,560 21,660 A 2,100
[J31H 0l &f 350,000& =12 A+ 12& 4,200
130 Ol ot 350,000& 1O 2 A +12& 4,200
(150l ot 100,000& 9 2 M = 12& 10,800
Ox=u& 5,000 x6H x12& 360
NE~HHH| 307,440 326,340 A 18,900
g PR 49,800 45,600 4,200
OAMSRHE 650,000& «12& 7,800
Ogga M223 350,000& *10H =123 42,000
A EXH 206,640 225,540 A 18,900
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SN

OIS ALR H

M HY2IZHI(ABMRH)(OIEH/IIE)
chel: ol R
S FB SR (E) - NRAY - Be S Lo e 2
2= 650,000& 1~ 123 7,800
L4= 400,000& x10H «12& 48,000
L= 250,000& «10H « 128 30,000
e=2(Jls62 155,000& 25 123 46,500
Or=201s72) 140,000 & «27 B 128 45,360
08~932 (01=8-92) 105,000& «23H » 122 28,980
03 SR SHI 51,000 55,200 A4,200
L2 & S| 50,000 85 12 51,000
303 Zal= 70,057 74,752 A4,695
02 d1t&0i=s 70,057 63,232 6,825
Od a3 70,057
OJlsH 48,429,600& »130% 62,959
OFEEE 1,365,000& 42 % 130% 7,098
| =&l 448,586 443,009 5,577
JI=&Hl 448,586 443,009 5,577
201 LEH2HH| 448,586 443,009 5,577
01 AtS2t2itl 94,950 104,250 9,300
O Et=ZH| 14,200
O =stE N EA 350,000 12K 4,200
OZHEHEFSUS 10,000
O=2g=¢% 29,750
O=2Hl 50,000& 365 18,250
O Al 50,0003 1152 «2H 11,500
LI =l 6,000
OHIIE2R=L 3 200,000 x35+44 2,400
O RAIZENHYS 200,000 6 1,200
OAFAUNARA2R=(S,5t7)
300,000 »2H »2H 1,200
OMEAUARYF AU ZPE(S,01=2)
300,000 »2& »2H 1,200
Oexs 45,000
OXEL XS 45,000
02 83224l 353,636 338,759 14,877
OS2 Al 152,708
Ogx=&ollti &S M=t 1,000
OXsSXHEEZ(60H) 500,000& +6CH 3,000
OX-sSxHAI(6CH) 500,000 *6LCH 3,000
Odot=ZAEE 400,000 x12& 4,800
OloIsgssdlz 300,000& =122 3,600
O&JIIMNER 4,000,000& x128 48,000
OFSZ(UEHAUMEZE ,01SHS)
5,000,000 x12& 60,000
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